%&vnlumnufﬂ-ﬂ.ﬂm].dﬂ-lﬂﬂ NH;(ag) is titrated with 0.20 M HCl(ag). The valoe of the base-dissociation
constant, K, for NH; in water is 1.8 x 10%.at 25°C.
NH M ci”
4 Writt the netvionic equation for the reaction of NHs(ag) with HCKag).
provided il 5 N . of 40.0 mL of
i i the titration curve that results when a total
/09/}:’;;! Hm}ltl.‘.][{"::q} h'uuw%om volume of 0.10 M NHi(gq).

4

Voume of 0.20 M HCl Added (mL)
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)n‘l’]‘.f voluimes of 0.10 M NHy(ag) ad 0.10 M NH,Cl(ag) are mixed, s the resulting solution acidic,
or basic? Explain. '

g

T ol 0 %)
! = R g — -




